
DYN_Ct_12_30

Stránka 1

1. test 2. test 3. test součet opravný test náhradní test zápočet
S22000017 0,8 0,8 1 2,6 ne ne započteno
S22000019 0,6 0,7 0,7 2 ano ne
S23000235 0,7 0,7 1,1 2,5 ne ne započteno
S22000033 0,6 1,3 1,3 3,2 ne ne započteno
S22000037 0,2 0,2 ne ano
S22000039 0,7 0,7 0,7 2,1 ano ne
S22000040 1,3 1,1 1,2 3,6 ne ne započteno
S21000028 0 ne ano
S21000038 0,5 0,5 ne ano
S23000243 0,6 0,8 1,1 2,5 ne ne započteno
S21000044 0,3 0,1 0,4 ne ano
S22000066 0,7 0,8 0,7 2,2 ano ne
S21000049 0,7 0,8 0,7 2,2 ano ne
S21000056 0,8 0,6 1,4 ne ano
S22000092 0,7 0,8 0,7 2,2 ano ne
S22000099 0,8 0,5 0,9 2,2 ano ne
S22000108 1,2 0,8 0,7 2,7 ne ne započteno
S22000334 0,6 0,1 0,7 ne ano
S22000382 0 ne ano
S23000321 0,6 0,7 0,7 2 ano ne
S21000122 0,8 0,7 0,8 2,3 ano ne
S22000134 0 0,5 0,5 ne ne
S22000135 0,2 0,2 ne ano
S21000134 0,5 0,8 0,8 2,1 ano ne
S22000149 0 ne ano
S22000156 0,6 1 0,5 2,1 ano ne
S22000158 0,4 0,6 1 2 ano ne
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